Alex Beck

9/23/01

Period 1

Date(s): 9/17/01 9/18/01

Title: Separation of Mixtures

Purpose: The purpose of this lab is to separate sand, salt, and sugar and attain their mass composition.

Materials: Beaker 2X, filter paper large and medium, AgNO3, funnel, stirring device, drying oven, distilled water, and a Balance.

Procedure: 1. Place 5.00g solution into beaker.

2. Add 100ml water to solution then stir till all of the solutes have been dissolved.

3. Mass large filter paper then Filter solution through large filter.

4. Dry filter paper then mass it. 

5. Add an excess of 15g of AgNO3 to the solution and stir.

6. Mass Medium filter then filter solution through it.

7. Dry filter paper then mass it.

8. Dispose of solution then calculate results.

Data:

Mass of solution
5.00g
5.00g

Mass of Large filter paper
1.30g
1.30g

Mass of Large filter paper with sand
3.15g
2.77g

Mass of sand
1.85g
1.47g

Mass of medium filter paper
1.30g
0.68g

Mass of medium filter paper with AgCl
1.93g
1.17g

Mass of AgCl
0.63g
0.49g

Observations: 


The solution took quite a while when water was first added. The Solution was quickly filtered through the paper. As soon as the AgNO3 was added to the solution the solution became cloudy white with AgCl. The percipient fell to the bottom of the beaker and it took a long time to filter the solution through the medium filter paper.

Discussion:


When the solution was filtered the SiO2 was massed at 1.85, 1.47. Therefore the percent composition of SiO2 is 1.85g/5.00g, 1.47g/5.00g = 37.0 % and 29.4% for an average of 33.2% SiO2.When the silver nitrate was added to the potassium chloride The silver got replaced with the potassium in this double replacement reaction. It can be represented by the reaction: AgNO3 (aq) + KCl (aq) ( AgCL (s) + KNO3 (aq). The mass of AgCl was .63, .49. The molar mass of AgCl is 143.35. Therefore the moles of AgCl and thus KCl is .63g/143.35g/mol, .49g/143.35g/mol = .0043948mol, .00341821mol. The molar mass of KCl is 74.55. Therefore the mass of the KCl in the solution is 74.55g/mol * .0043948mol, 74.55g/mol * .00341821mol = .3276g, .2548g. The Percent composition of KCl is .3276g/5.00g, .2548g/5.00g = 6.6%, 5.1% for an average of 5.8% KCl. Since the percent of KCl is 5.8 % and SO2 is 33.2% the percent composition of sucrose is 100% - (33.2% + 5.8%) = 61% Sucrose. A probable source of error is that the solution may not have been perfectly homogeneous giving imprecise results. 

Conclusion:


The purpose of this lab is to find the relative mass composition of 3 compounds in a solution. We did that by first filtering out the SO2 then massing it, then adding AgNO3 gave us a percipient to find the mass of KCl. The percent composition of Sugar was discovered by subtracting the other percents of the other compounds. From the lab we learned how to apply concepts of stoichiometry to real experiments, and many basic lab procedures. From this lab we discovered the composition of sand, salt, and sugar in a mixture.

